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Mathematical content
Ke
e , - Y monme - Anzai Taichi
e o Y. \ Jrekozan There are 48 of silver.
; é%% 3 A ;% % Y Regard a price of the smallest /reko as X.
1A 4 tg{ ¢ i i’f‘l%’é% §T 1 Then each price is X, X+1.5, X+1.5X2, Ikemiya Fumika
ok e T e ,
thErRssaalias e ddu X+1.5 X 8, X+1.5 X 4, X+1.5 X 5 and
SASCIPISH I dsa Lt ey X+1.5X6. to Ayane
f&&f@géylén "@?i ‘ .
EEFARS AR AR ; 217 3 According to calculations,
A o .ﬁ% 38 L * 1 }: Iwasaki Ryo
TR FEE R ] B X+(X+1.5)+(X+1.5 X 2)+(X+1.5 X 3)+(X+1.
4 'f? \ “ f o ’i‘ -
LIRS L AR 5X 4)+(X+1.5 X 5)+(X+1.5X 6)=48
TX+1.5X21=48
Modern translation TX=48—31.5
There are five containers each can contain 150y, Zshou gshou gshou hshou [f 7X_16 5
you buy each containers one by one with silver of 40monme, how many _ *
siklnesl;?efan you allot silver of 40monme to each containers? X=2.3 57 1428 57 14
Can contain fshou Jmonme g@ou grin gmou  gshi X . 2 3 57
25hou 5monme’ 3bu ’ 3rin ’ 3mou ’ 3shi_ ® °
St o b G e G So, prices of each Ireko are 11.357, 9.857,

CalcuIation5Shflus”o"’z:logm;'s’z’u%ﬂ' u‘ftjéo.gséz”"”. 8 . 3 5 7 ’ 6 . 8 5 7 ’ 5 . 3 5 7 ’ 3 . 8 5 7 and 2 . 3 5 7 iIl

You can get 65"°¢ and divide it by 2, you will get 35"°“. You multiply 35"°“ by 5 then

you can get 1t5shou, Ol‘der Of a big II’ e]fO.

And you divide 4077°7m¢ divide by 1%55mu you will know the proxy bill per square.
There are seven containers [ ireko ].

If you buy a container cheaper than other container one size bigger than the
container. Price of each containers different 1.57omme,

how many silvers can you allot silver of 487°"m¢ to each containers.

Answer the biggest one 11monme 3bu §rin Jmou { shi
Qmonme g bu 5 rin 7 mou 1 shi

8 monme 3 bu 5 rin 7 mou 1 shi

6 monme 8 bu 5 rin 7 mou 1 shi

5 monme 3 bu 5 rin 7 mou 1 shi

3 monme 8 bu 5 rin 7 mou 1 shi

9 monme 3 bu 5 rin 7 mou 1 shi
Calculation you subtract 1 from 7 containers and get 6. Also you multiplied 6
by 7 and divide it by two, you’ Il get 21. Also you multiplied 21 by 1.5 and
you’ Il get 31.5. also you add 31.5 to 48 and divide it by seven, you can know
the price of the most biggest size of container. Also you can know the price Ikemlya ItO
of the smallest container if you subtract 31.5 from 48 and divide it by 7. Anzai Iwasaki

Edo culture VAW
The history of money in Japan Ve

#The twelve coins of empire. (They were the oldest coins and were issued in Nara and
Heian period.)

# Arrival coin. (Because the Japanese government did not issue money in late Heian
period.)

# The Muromachi shogunate also imported coins from China(Eiraku tuho exc).

#During the Sengoku period, mining development was flourishing due to the southern
barbarian trade. Therefore, a coin made of gorgeous gold was issued (Tensyo Oban).

# Tokugawa leyasu unifies the gold and silver money. Thereby for the first time, three
currencies of gold, silver and coppr were collected and distributed throughout the

country.
However, due to the issue of Daimyo 's clan tag, the
exchange rate of gold and silver copper was also disturbed. lkemiya
Summary &Impression &future tasks
Summary

This is a question what is called /rekozan .

Irekozan is a question to find each of prices of containers whose sizes are different.

It can be answered by a linear equation.

Future subject

We can finish translation of modern language smoothly, however they took time to understand contents of math and translation of
English. We think it is because a lack of our knowledge of English and ability of application. So we want to acquire these abilities.
Impression

This problem that application covered in the present times was interesting, but, with it, it was difficult because a considerable
consideration power and calculation power were required. Also we are interested in history of japan because of knowing the historical
context when the question was made. There are diverse questions, so we want to challenge them.




